-15 if x<-5

51. f(x) =+ vx+6 if -5<x<10

248 if x>10

1) Evaluate each for #51;
f(-6) =

,6# 15
f2)= (210
7" 2
f10)= | [0+b

A




2) A jazz ensemble is looking for 3 trombones, 4
trumpets and 1 drummer. They have 6 trombones,
7 trumpets and 3 drummers to choose from. How
many different groups are possible?

GCB. qu = 3Cl = 2100

3) A spinner has 8 sections; green is 1/4 of the
spinner. If you spin 80 times, how many should

you expect to land on green? %O

..-l-—-v =
; 60 20



1. Graph: f(x)=|x|-3 2. Graph: f(x)=-(x-3)*-1

Ty My
B /.
< S
..... x

\;'
A" 4

mype: Abs. Value Type: Quadratic
Transformation(s): DOWH 3 Transformation(s): Reﬂe(:tion, Right 3, DOWI] 1

Domain: R Domain: R
e Range: y < =]

; Ve -3 (-3 %Positi"e Interval: NEVeEr
Positive Interval: ’ Increasing Interval: (- DO, 3)
(-DO, -3)U(3,DO)

Increasing Interval: Fnd Behavior: as X=->-00 f(X) - - oo
Extrema: (O.QDO) as x=> oo f(X) - -00
* Abs. Min. extrema: Abs. Max




3. Graph: f(x)= (x+1)3+2 Type: Cubic

15

Transformation(s):

,} Left 1, Up 2

Domain: R

Range: R
Positive Interval: ('2-?9 DO )

Increasing Interval:(- DO, w )
as x-»-00 f(x)-» -p0

~
“ W

w

critical Point: P.(.1. End Behavior:
as x-» 00 f(x)- o0
4. Graph: f(x) = Lss P Rational
y Transformation(s):

Up3

‘ {8 Domain: X # O

A\
N

*E Range: y Z3




5. Graph: f(x)=(x-2)*+1

“P

N

NS

Extrema: AbS. Min.

T : .
** Quadratic

Transformation(s):

Right 2, Up 1
Domain: R

Range: y Z. ’

Positive Interval: R

Increasing Interval: (2’ DO)
as x->-00 f(x)> 00
as x=» o0 f(x)- 00

End Behavior:

6. Graph: f(x)= J/x+4-1

e

o

w

" Square Root

Transformation(s):

Left 4, Down 1

Domain: y > _4
Range: y > -1

Positive Interval: (-3, w )
Increasing Interval: [-4, DO)



e = {73215
f(—6)
f(—4)
f(2) =
—2x—5,x<2
3) f(x) = {1x+5,x>2
f(0)
f(2)
f(4)
x+7,x=24
5 f(x) = [—Zx,o <x<4
5,x <0
f(—6)
F(4) =
f(8) =

DF@={ ) s
FlL
f(3)
f(5)

3,X & —2
4) f(x) = [—2—4x,—2<x<3
x2-1,x2>3

f(=5)
f(1) =
f(3) =

6) f(x) = {

—-3x+1,x <6
§x+3.x>6

f(=2)
f(6) 5
f(9) =




Unit 5: Functions

Piecewise
Functions

Graphing



What is the probability of guessing and
answering this question correctly?

A. 1/3
B. 2/3

C. 1/3



piecewise function -

a function that cannot be
represented by a single
equation

EX. A job that pays more for overtime



x+2ifx<-2
Example 1: fxx)= { -

Ix ifx>-2_

. o) @
1 g0 3076
1 (-3,-) (L
AT 3 363

A IS
|V
® 0



. 4-xifx>3
Tl'yThlS  §- f(X)= { _2x-2ifX:1-

'(310 (’/_L’)
KT 43 -20)-2=-4

\\ (l—l/ 0) (O/ -ZB
LN "‘\ 4-4=0 -2(0)-2:-2

.JJ" '!Jl -L»




-1ifx<-3
Example 2: Graph f(x) = {“ if-3<x=<2







Continuous Functions --

Being able to trace the graph of
the function without picking up
your finger

No jumps, holes or gaps in the
sraph




Continuous?

-




Assignment:

WS 509 #1-5
E.C. for All

Function values are seperate
questions from the graphing



f@)=+

Ax—2 x> 3
—§+4 x< 3




r—.7c+4 x=0

<2x—1 0<x<b
2 x>6

f(-2)=

7(0)=

7(9) =




